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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 477187613 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The statement. ‘development proceeds from the whole to the parts and from
parts to the whole’ relates to this principle of Growth and Development
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Development is a product of heredity and environment
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Question Number : 2 Question Id : 477187614 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher who is putting efforts to improve the performance of a child with
average 1Q is trying to modify the
St IQ &%) Domrd HELS DHDHHOTSERE il [es) edrgrend D
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Choose the correct answer
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Both A and B
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Question Number : 3 Question Id : 477187615 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Wisdom teeth
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Options :
appear at the age of 25 years in all individuals
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may not appear at all in some mndividuals
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appear before adolescence 1n all individuals

appear during adulthood in all individuals
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Question Number : 4 Question Id : 477187616 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Accomphishment of developmental tasks depends on
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Choose the correct answer
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Both A and B
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Question Number : 5 Question Id : 477187617 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

9 year old Shruthi has completed her homework and helped her younger brother
in doing his homework so as to get her father’s permission to see TV for an hour.
According to Kohlberg, the stage of moral development of Shruthi is
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Stage 3 of Conventional morality
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Question Number : 6 Question Id : 477187618 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Six vear old Ramesh used to call any man as ‘uncle’ and woman as ‘aunty’. He
went to a new country and observed that to call any person he can call them by
their name by adding courtesy titles like ‘Mr’ and ‘Miss’. This 1s an example of

this cognitive functioning put forth by Piaget
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Question Number : 7 Question Id : 477187619 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Casting of vote to a particular polhitical party reflects
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Question Number : 8 Question Id : 477187620 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Avush as a child always used to take his mother’s help in solving his problems
at school. Now in his college he is the student leader who takes initiative for
everyone's cause. From this example, it can be said that ‘Personality’ is
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Question Number : 9 Question Id : 477187621 Question Type

Number : Yes

Correct Marks : 1 Wrong Marks : 0
Adjustment involves
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Choose the correct answer
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Question Number : 10 Question Id : 477187622 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Kiyaansh i1s a five year old boy. Since three months when playing in park he
suddenly says, ‘I want to go home’ and doesn’t stay there. His mother asked
him the reason but he was not saying anything. One of the following methods
will help the mother in finding out the reason
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Introspection
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Question Number : 11 Question Id : 477187623 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In one instance a father was telling his son. ‘a bird in hand 1s better than two 1n

bush’. The father is helping learning through
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Question Number : 12 Question Id : 477187624 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the environmental factor that effects the learning
of a learner
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Options :
Learner’s interest
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Question Number : 13 Question Id : 477187625 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Thorndike did not give any importance to this in learning
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Question Number : 14 Question Id : 477187626 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Wridhi 15 a three year old girl. Her father runs an auto rickshaw for livelihood.
Everyday when he returns home he brings some toffee for Wridhi. Wridhi used
to get excited on seeing toffee. After few days Wridhi started to get excited with
the sound of auto rickshaw itself. The response of getting excited on hearing
sound of auto rickshaw 1s
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Question Number : 15 Question Id : 477187627 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to Operant Conditioning, which of the following has significant role
m learning?
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Options :
Consequence of behaviour
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Question Number : 16 Question Id : 477187628 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a school function, during a ‘drill’ students have separated into groups to form
different shapes and the spectators could recognize the ‘formation’ as the word
‘INDIA’. This type of perceiving objects or elements that are physically close
together as a unit is explained by this principle of Gestalt Theory
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Question Number : 17 Question Id : 477187629 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

When we say that ‘an individual 1s a good human being’ we are referring to the

character of the individual that falls in this domain
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Question Number : 18 Question Id : 477187630 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement relating to Primary Motives
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Options :
They are also called as biological motives

@y Burad  armag B . . Y
8 2ddonoldadd Risren @) BT @olrEd

1. #® ) = -

They are found in all organisms

i c -
AT T RV - e S
&) '?:C'r\,;‘_- Lvﬂ__l,'ﬁ-'éq =R Eay " Q0D

They are acquired but not innate

®a) 3t SadNd 50 EnEE° DoBihoddd 38y
A 2 :

4.



Question Number : 19 Question Id : 477187631 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Anvesh on his way home went to the super market, looked at the things

messaged by his wife on his mobile and bought them. After going home his wife
sald, ‘what did you bring?’ Anvesh could not tell her as he has stored the hst in

this memory
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Question Number : 20 Question Id : 477187632 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In transfer of learning, learning in one situation
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always increases learning in another situation
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Question Number : 21 Question Id : 477187633 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement relating to teaching
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Options :
Teaching can be direct and indirect
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Question Number : 22 Question Id : 477187634 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
An effective teacher 1z one who knows
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A) How to teach?
Jer G Bowrd?

B) What to teach?
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C) Why to teach?
doth &HoTd?

D) Where to teach?
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Choose the correct answer
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Question Number : 23 Question Id : 477187635 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following is NOT a way of engaging the learner in Enquiry
Based Approach?
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Options :
Relevant Information
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Question Number : 24 Question Id : 477187636 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inclusive Centre 1= one that
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Ensures the presence and acceptance of diverse learners
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Question Number : 25 Question Id : 477187637 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Under this Rule of Right of Children to Free and Compulsory Education Act.
2009, the Head-teacher or in-charge of the school delaying i1ssuance of transfer
certificate shall be liable for disciplinary action under the service rules
applicable to him or her
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Question Number : 26 Question Id : 477187638 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following 18 NOT the purpose of Continuous Comprehensive
Evaluation
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Options :
Reduce examination stress and anxiety
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Question Number : 27 Question Id : 477187639 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. the time allotted to this should be less to avoid problems
n the classroom
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Question Number : 28 Question Id : 477187640 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among which of the following areas does ‘play’ foster development
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A) Creativity
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B) Social Skills

C) Problem Solving

D) Language
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Question Number : 29 Question Id : 477187641 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The approach of a teacher with autocratic leadership style is
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Question Number : 30 Question Id : 477187642 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher has given a project to her students to observe the various properties of

sugar. This is an example for learning as advocated by
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Section type : Online
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Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 47718734

Question Shuffling Allowed : Yes



Question Id : 477187643 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Question Number : 31 Question Id : 477187644 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 477187645 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

= B LA - -, a 4 L
@'~ B8 molig® 5 6)B7?

Options :

g _ on : wf o
ENS LA S la e
o

1. %

Treasnolts
2. % =

3!
3.9

B8yen
4. %

Question Number : 33 Question Id : 477187646 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 477187647 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

2
47718735
Yes



Question Id : 477187648 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Sub questions

Question Number : 35 Question Id : 477187649 Question Type : MCQ Option Shuffling

Number : Yes
Correct Marks : 1 Wrong Marks :

HorPRe E8ar8mT oHbd 26562
Options :
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: Yes Display Question

Question Number : 36 Question Id : 477187650 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks :
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Question Number : 37 Question Id : 477187651 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 477187652 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 47718736

Question Shuffling Allowed : Yes



Question Number : 39 Question Id : 477187653 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 477187654 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 477187655 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 477187656 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question



Question Number : 43 Question Id : 477187657 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 477187658 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 477187659 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 477187660 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 477187661 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options
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Question Number : 48 Question Id : 477187662 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

5 R [— -
Qrrl’ S TPPTReD
Options :
2Oy fa
Lddod , \_}':OC-
1. %
r‘u‘z&:-aﬁ. oels:
2. %
Iy
':'f“_f oD, '{:“,QJJQ___LH.\_J
3. % &



Question Number : 49 Question Id : 477187663 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 477187664 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 477187665 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 477187666 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 477187667 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 477187668 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 477187669 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 477187670 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 477187671 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 477187672 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 477187673 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 477187674 Question Type :

Number : Yes
Correct Marks : 1 Wrong Marks : 0
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MCQ Option Shuffling : Yes Display Question

Language II English

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

47718723
3

Online
Mandatory
26

.-‘\
(3] 4
#



Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

26

30

0

1
47718737
Yes



Question Id : 477187675 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The term ‘reading’ includes oral as well as silent reading. Traditionally
Instruction in reading began with oral reading and proceeded from that to silent
reading. Since oral reading combines reading for meaning with the factor of oral
communication, beginning with an emphasis upon oral reading adds a learning
difficulty that reduces reading rate by at least one-third. Hence most modern
methods of teaching reading begin by emphasizing comprehension through
silent reading. However. oral reading should not be neglected. especially during
the early stages of training. since through it reading patterns can be fixed by
utilization of visual. auditory. and kinaesthetic sensations.

A child cannot be expected to make progress in learning to read until
he /she has reached a state of readiness for instruction. Individual differences
show themselves markedly in the degree of readiness of different children. Some
children seem to pick up their early reading skills with a minimum of regular
mstruction; other youngsters are the despair of their teachers in the early
orades. A child may seem to show little interest in or ability to read during the
first year or so of his/her formal schooling and then suddenly start to read with
apparent comprehension and interest. According to Harrison. the major factors
of reading readiness include adequate mental age or maturity. adequate visual
powers and habits. good hearing., emotional adjustment. adjustment to the

school situation, desire to read, and specific skills in the reading.

Sub questions

Question Number : 61 Question Id : 477187676 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, which of the following 1= NOT a factor of reading readiness?
Options :

madequate mental age or maturity
1. ¢



emotional adjustment

2.

good hearing
3. %

desire tog read
4. ®

Question Number : 62 Question Id : 477187677 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the statements (a) and (b) and choose the right option.
(a) Most modern methods of teaching reading begin by emphasizing
comprehension through oral reading.

(b) In traditional instruction in reading. silent reading precedes oral reading.

Options :

Only the Sentence (a) is correct.

Only the Sentence (b) 1z correct.

Both the Sentences (a) and (b) are correct.
3. %

Both the Sentences (a) and (b) are incorrect.
4.

Question Number : 63 Question Id : 477187678 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, oral reading should not be neglected because it helps the
child in fixing reading patterns by using his/her

Options :

auditory and kinaesthetic sensations only.



visual, auditory, and kinaesthetic sensations.
2.

visual and muscular sensations only.
3. %

visual and auditory sensations only.
4.%

Question Number : 64 Question Id : 477187679 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, what 15 NOT correct regarding a child’s readiness for
instruction in reading?
Options :
Individual differences show themselves markedly in the degree of

readiness of different children.

1. %
A child can be expected to make progress in learning to read until he /she
has reached a state of readiness for instruction.
2.
Adequate visual powers and habits 1s one of the major factors of reading
readiness.
3. %
A child cannot be expected to make progress in learning to read until
L% he/she has reached a state of readiness for instruction.

Question Number : 65 Question Id : 477187680 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
Identify the word from the passage which means ‘related to sensory perception

of muscular movement’.

Options :



visual
1. %

auditory
2. %

aural

kinaesthetic
4. &

Sub-Section Number : 2
Sub-Section Id : 47718738
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 477187681 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Though the errant boy many times, he did not change his behaviour.

Choose the appropriate option to complete the sentence.
Options :
had been warned

1. ¢

had warned
2. ®

had warn
3. %

has been warned
4. %



Question Number : 67 Question Id : 477187682 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The people of such substandard quality are a dime a dozen.
Choose the meaning of the idiomatic expression “a dime a dozen” in the given
sentence.
Options :
very rare and of immense value

1. #®

very uncommon and of particular value

2.

very common and of no particular value
3.

very unknown and of substantial value
4.%

Question Number : 68 Question Id : 477187683 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A stich in time nine.

Choose the correct option to complete the proverb.
Options :

Fave

2.

saved

saving
4. %



Question Number : 69 Question Id : 477187684 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
When Ranjitha joined the hostel. she started suffering from nomophobia. She

was suffering from the fear of being without her

Options :

t

1. % -

friends
2. ®

parents
3. %

mobile phone
4,

Question Number : 70 Question Id : 477187685 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The guest stayed the Hotel Taj his stay in Hyderabad.

Choose the appropriate option to complete the sentence.
Options :
at. during

1.

at, while

n, in
3. %

L% n, while



Question Number : 71 Question Id : 477187686 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The car driver failed to produce his driving
Choose the correct answer.
Options :
lisense
1. ®

licence
2.

licensed

lisence
4. %

Question Number : 72 Question Id : 477187687 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

His mother hardly walks, ?
Choose the correct option to complete the given sentence.
Options :

does she
1.9

don’t she
2. #

doesn’t she

didn’t she



Question Number : 73 Question Id : 477187688 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The television was being repaired.
The sentence means

Options :

The television had already repaired.

1. %
The televizsion had already been repaired.
2. ®
The television was under repair.
3.9
The television 1s under repair.
4. %

Question Number : 74 Question Id : 477187689 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

His birthday 18 on tenth of November.
A B C D
Options :
% A
2. % B
3. ¥
D



Question Number : 75 Question Id : 477187690 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Mr Rajinikanth 1s one of the most popular actors in India.

The sentence can also mean
Options :

Mr Rajinikanth is more popular than any other actor in India.

1. %
Mr Rajinikanth is the most popular actor in India.
2. %
5 No other actor in India 1s as popular as Mr Rajinikanth.
y Mr Rajinikanth is more popular than many other actors in India.
4.

Question Number : 76 Question Id : 477187691 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The police credulously believed what the victim had said.
Identify the appropriate meaning for the word “credulously”™ in the given
sentence.

Options :

readily believed without proper evidence
1. ¢

were ready to believe with proper evidence
2, %

unwilling to believe without proper evidence
3. %

readily believed based on adequate evidence
4.%



Question Number : 77 Question Id : 477187692 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
During the interview, the interviewee hung up.

Identify the meaning of the expression “hung up” in the given sentence

Options :

remained silent during the telephonic interview

1. ®
ended the telephonic conversation
2.
continued the telephonic conversation
3. %
answered fluently during the telephonic mterview
4. %

Question Number : 78 Question Id : 477187693 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

There 13 a continugus verbal war over

Choose the appropriate option to complete the sentence.

Options :

a Panama Canal

1. %

an Panama Canal
2. ®

the Panama Canal
3. ¢

Panama Canal
4. %



Question Number : 79 Question Id : 477187694 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The director always employs authentic material in making the scenes.

The antonym for the word “authentic” in the sentence.

Options :

original
1. %

real
2. ®

artificial
3. ¢

genuine
4.%

Question Number : 80 Question Id : 477187695 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

No sooner had I finished my lunch the manager called me.

Choose the appropriate word to complete the sentence.

Options :

than
1.

when
2. ®

then
3. %

vet



Question Number : 81 Question Id : 477187696 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ramani said to Rani, “I saw your notebook on this table yesterday”.
Choose the correctly reported form for the given sentence.
Options :
Ramani told Rani that she had seen her notebook on that table the
previous day.
1.¢
Ramani told Rami that she has seen her notebook on that table the

previous day.

Ramani told Rani that she had seen her notebook on this table the

previous day.
3. %

Ramamni asked Rani that she had seen her noteboolk on that table the

Pr evigus da V.
4. ®

Question Number : 82 Question Id : 477187697 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
Identify the word with the consonant letter ‘t" 1s pronounced.

Options :

buffet
1.

Christmas
2. %

robot
3. ¢

depot

4. %



Question Number : 83 Question Id : 477187698 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT expression.

Options :

an ensemble of musicians

1. %
a quiver of musicians
2.
a band of musicians
3. %
an grchestra of musicians
4. %

Question Number : 84 Question Id : 477187699 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct option when the jumbled words are ordered.

Oscar-winning/ you,/ did / the / movie? / watch / When

Options :

When did the Oscar-winning movie you watch?
1. %

When did watch vou the Oscar-winning movie?
2. %

When you did watch the Oscar-winning movie?
3. %

When did you watch the Oscar-winning movie?
4.



Question Number : 85 Question Id : 477187700 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Learners have to fix up habits of the English language patterns.
This 1= a principle of the following teaching approach/method.
Options :
Structural approach

1. ¢

Communicative approach

Direct method
3. %

Grammar translation method
4. %

Question Number : 86 Question Id : 477187701 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

C.F Hockett coined the term ‘design features' associated with characteristic
features of

Options :

economy.
1. %

language.
2. ¢

human evglution.
3. %

civilization.
4. %



Question Number : 87 Question Id : 477187702 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following 15 NOT a guiding principle for curriculum development as
putlined in the National Curriculum Framework 2005.

Options :

Making examinations less flexible.
1.

Integrating examinations with classroom hife.
2. %

Ensuring that learning is shifted away from rote methods.
3. %

Enriching the curriculum so that it goes bevond textbooks to provide for

overall development of children rather than remain textbook centric.

Question Number : 88 Question Id : 477187703 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Thorndike and Lorge (1905) produced a book called ‘The Teachers’ Word Book'.

This book 1= produced as a

Options :

workbook to the students to read the stories.

1. %

textbook to the teacher educators to teach grammar.
2.

gulde to teachers to select and teach vocabulary.
3.¢

source book for teaching methods.
4.%



Question Number : 89 Question Id : 477187704 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A test tests what 1s meant to test.

This aspect of testing is known as

Options :

Practicality.
1. ®
Jsability.
2. %
Reliability.
3. %
Validity.
4. &

Question Number : 90 Question Id : 477187705 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

"Questions relevant to the context and the responses’. This is an indicator of the

following discourse

Options :

Interview
1.

Biographical sketch

2. ®

Eszay
3. %

Description
4. %

Mathematics



Section Id : 47718724

Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 47718739
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 477187706 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two dice are tossed once. Then the probability of getting an even number on the
first die or a total of 9 18
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Question Number : 92 Question Id : 477187707 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A sphere fits exactly inside a cubical box. The ratio of the volume of the sphere
to the volume of the cubical box respectively is

2.5 Ado a8 soorsrdsy T Sae E\’:&n: HESPAI0H. NS & BPYo sodndsirmo.

Options :

12:m
1. %

e £
2.

6: 1
3. %

w12



Question Number : 93 Question Id : 477187708 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
A cricketer has a mean score of 55 runs 1n nine innings. How many runs are to
be scored by him 1n his tenth mnings to raise the mean score to 58?

2.5 (5305 &b adyohye Sitn T8 55 HHhiben. 08D Siitn oD 588 Dol

F ol g - s % -'E'c\-. Y AT __L—": 4 o W
a5 s Benofyd” oledy 2)BoMDen i ?

Question Number : 94 Question Id : 477187709 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The sum of all the edges of a cube 12 S84cm. Then, the total surface area (in
aq.cm ) of the cube is

AT L A 4 = & o A T A LV :
2.5 goaad F:r:c'_:;_ oo EH%D 8—]- al0.8h. Bond, TPu wu%ﬂg &hen I TOEITD {?.\.'.E‘JO.

Options :

e 393
, o 294
Lx 512

192



Question Number : 95 Question Id : 477187710 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The midpoint of the line segment joining the points (12, 0) and (0. 10) 1s

Sothden (12, 0) $08ciw (0, 10)e:d 803 O oo e Hothsd

Options :

1. ¢
(6, 0)
2. %
3 % (5.6)
(0.5)
4. %

Question Number : 96 Question Id : 477187711 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If81(x+1) = 720 4+ 81%, then x =
81(x%1) = 720 4 81% wond, x =

Options :

1.5
1. %

0.2
2. %

0.5
3.¢

0.3



Question Number : 97 Question Id : 477187712 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 0.000875 is expressed in the form of Lﬂ for smallest value of whole

2Mx5

numbers M and N then the value of (M + n) is

[+

M £B8dw N o3 ooy Bwd), ©8 A5 Do 0.000875 & ——— &=
2 o 2m x5n

BA
]
C

D8R, (M + n) dents o8?
Options :
11

Question Number : 98 Question Id : 477187713 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

(V3-v2) (V3++2)(3°+2°) (32 +2%) =

Options :

1.

i
[



Question Number : 99 Question Id : 477187714 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

1 1 1
Let @, b and ¢ are three natural numbers such that — + " + — =1, then values
a C

of @, b and ¢ are

1, . 1,7 . . ) .

o= 1 o6& dore a,b H8cw € e Hre e Somges ©Hod, a,b

a [ =

080w € © Hevsden

Options :
1,3.4

1. %
2,3,4

2. ®
1.2.3

3. %
2.3.6

4. ¢

Question Number : 100 Question Id : 477187715 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

v148.1089 =

Options :

12:47



Question Number : 101 Question Id : 477187716 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If (a—b) =8and ab =5, thena® — b* =
(a—b) = 8 2060 ab = 5 @and, a® — b3 =

Options :

512
1. %

632
2.¢

392
3. %
4 % 527

Question Number : 102 Question Id : 477187717 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number when added to 1tself 27 times gives 224, What 1s the number?

e e e T B B R e I,
2u5 JOFrs0 &g o OFreld 27 et 82od 224 Hcnoh. & eI oJOdn
o = _- ]

Options :
8
1. ¢
2. % {
6
3. %
0



Question Number : 103 Question Id : 477187718 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two supplementary angles differ by 28°. The bigger angle among them iz

~

FR S N i . : s QO i oy OB o, B
Gotd Hogrds Bere sogl 250 28°. eond, IE° 285 o
Q

Options :

128°

4. %

Question Number : 104 Question Id : 477187719 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sides of a right angle triangle are in the ratio 5:12:13 and sum of length of

its shortest and longest sides is 144em. The length of the remaining side (in em)

18
a8 oont’m Bghuo GwE) ghePen 5:12:13 V)8S° Gotran HBEH TR O 6D
EPESS ghere SPEde Sndo 144 Ro.8o. ADS ghedn EPED (Ro.do.os®)
Options :
104
1. ®
40
2. %
3. %
52



Question Number : 105 Question Id : 477187720 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The end points of a line segment are (1, —3) and (6. 7). Then, the slope of that
line segment 1s
2.8 Ogrpodo Gns,; @od; Hothden (1, —3) HBAD (6, 7). @ond, & Oyrpotio G

olPED

Options :

5
1. ®

2
2.¥

4

T
3. %

5

4

4. %



Question Number : 106 Question Id : 477187721 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
18 persons can finish a work working 6 hours a day in 25 days. In how many

days the same work can be finished by 20 persons working 9 hours a day?

Options :

20
1. ®

18
2. %

12
3. %

15
4. ¢

Question Number : 107 Question Id : 477187722 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
How much iz the compound interest on ¥5000 for 3 vears at 10% interest per

annum?



Question Number : 108 Question Id : 477187723 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a cubic polynomial?

o coim : P
Eob IS b asTund 267

Options :

Bx+1)2+3x+4

1. ®
s A L O
2. %
x? = x(2-Fx%) 4 2x
3.9
(x+1)2x—1) —x(x+1)
4. %

Question Number : 109 Question Id : 477187724 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 75 1s added to 73% of a number. the same number i1z ogbtained. then that

number 1

o

o

DopeEta T3% %5 7

A
N

[IES

el
L¥]

053, @0 Do)y Hinod), wous 8 Doy

L 300

225
2. %

280
3. %

320



Question Number : 110 Question Id : 477187725 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the perimeter of an equilateral triangle is 48 cm, then its area (in sq.cm) 1s

- n "

g - Oy e, L O R .y - S A = 2% oy = = g ey 5,

s — k 2 vy -y o —B g +f SR £

rJoDETP T (e300 T 0ENS et 48 %0 .50 eond, ord) N Gaie] {?_._I.rC'_..o._u.P_;":‘\_, ]
& o g \

&

e,

e
(=¥

Options :

2443

1. %

3243
2. #

723
3. %

644/3
4.«

Question Number : 111 Question Id : 477187726 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options
2
L& 7
1
2. 7
4
T
3. %
3
7



Question Number : 112 Question Id : 477187727 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If P and Q be any two sets such that P — Q = P, then PN Q =

P—-Q=P @-53; D&ore P 5865 Q e 37 Botd H&hden wons, P N Q=

Options :

PUQ
1. ®
P
2. %
@
3. ¢
Q
4, %

Question Number : 113 Question Id : 477187728 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a survey 50 observations are noted. Of them, the mean of first 20
observations is 15 and that of remaining observations 1s 25, then the mean of

total observations is

i)

o
A

. : p 2 ) 5 B
o LS r ey B e e g of . acam wrey By e £ H
2.5 p:-a;e_‘é 0 S588eden DarhIchorron. 86°, dodd 20 HBdane Hfén 15 S0Bdin
. i 5
o OO el Oy yi o B | o g w [ R o
ThAEH HBBeNe Hén 25 wonad, Sudo HBdeRe Silén

Options :

21
1. v
2 x 20
3% 3
098



Question Number : 114 Question Id : 477187729 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

(0.00032)%¢ =

Options :

0.016
1. %

0.004
2. %

0.002
3. %

0.008
4. &

Question Number : 115 Question Id : 477187730 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

“A student can create mathematical expressions”. Then the academic standard

acquired by the student 1s:

o o = e iy . | &3 i 3 At Al g T Tyt Ty :
&5 o,lrr-‘;@ HdE Hararen Srerobodie.” @i, mf:u“—,g SPHOTN TP Il PEO!

Options :

Connection
sy ToTaite)

1. %
Communication
SrEngsdo

2.9 =

Problem solving

R
3 % ododdaders Q\%

]

o

Reasoning and proof

L% selegren Baytso. AdrRes Babo



Question Number : 116 Question Id : 477187731 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

"Find the formula for the area of a quadrilateral using triangulation.” The most

suitable method of teaching mathematics to teach this problem is:

2l

1" v - i —_ - . \ " O n % wr ) ot 0
(@280 o &NArAcD) JSWne JorerS drEed SNl & Dl S0N%

|

wérod ebadn Nid &0 H08:
Options :

Project Method

1. % e

Synthetic Method

o =L S,
DT a8 e

2. #
Inductive Method
= ﬁa/:lr/ E:f,(;r::

3. % *'

Deductive Method

DS HES
4. ¢ -



Question Number : 117 Question Id : 477187732 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the points which are NOT relevant in the selection of topics for school
mathematies curriculum from the following:
B80B TES e His Dy perdEs SrTrodrerd DoH8 K es® Somotio B9
oo Dhodol:
A)  Logical order
@88 Bho
B) Teacher centered approach
&arTroh S0B8)E dwrdo
C) Psychological order
SPHRE AR Biho
D) Lecture centered approach
=S PN go-ﬁéri‘% S te
Choose the correct answer:
8 esaPensD DothE ol:
Options :
A& C Dnij.-'
A& Corgab

B &’: D 01‘11}'

B & D irgah
2.¢

A, B& Conly

A B & C srad
3. %

A, C& Donly

A.C& Dirgd
4. %



Question Number : 118 Question Id : 477187733 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The point that should be kept in mind while designing the learning experiences
in mathematics 1s:

He8dos® we =208 @iglaPeD SrEPoBoDtnd D b5 othEard)N wodo:

Options :

Interest of the Teacher

S PTRand Bis

1. % -
Participation of the gifted students
BSerHomBR urihe iR

2. % . )
Complex to simple
§¢@ ol Hudasn

3. %

Objectives to be achieved

1 >
rhoisnens a5Een

4.



Question Number : 119 Question Id : 477187734 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The most suitable platform for uncovering hidden talents in gifted students:

o T i .-T" o o v = S T Y -] £ P oy & ] q"a-,..{,
|&J?_E'[1JDE-JJ€}‘§JE,E 0...'5”,5535_,"‘._. coi e f'l-.c._.l_.'?él [0)83°aI" €0 Eal) cle)S Soheea8 %lé_’pp Laae 268
& = ] = = : =

Options :
Mathematics Club

Mathematics Laboratory

L oA == d .
Mged OiPnT~o

Mathematica Exhibition
HeBe 008

3.
Mathematics Library

4 % g8 [Hotradio



Question Number : 120 Question Id : 477187735 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
An evaluation tool that provides consistent results no matter how many times it

12 used has this characteristic:

E - 25 TN g o e \ e
20 a0 2R &8 JSPHR0 8 o5y 5an

- L =4

)l
e

I\.

A i i R SR § Sy D B oy
2.5 GJJJTQT_.DDé P Reded) eded) o el Jos

totnob:

Options :

Rehability

D0
1. ¢

Validity

FposiImERds
2.%

Diserimination power

Dirgerds
3. %

Administrability

DGcsFEE SPedio
4. % " )

Science

Section Id : 47718725
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 47718740

Question Shuffling Allowed : Yes



Question Number : 121 Question Id : 477187736 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. an application of Bernoulli's principle 1s

-
e

-3 @ o gt A e
Sob arh&°, B3°D dr@o G, wnHntho

Options :
Lift on an airplane wing

R Ry oy ey =
SE0mS 08 o) SEERNH0 (@.3;]
T @ v

1.

Formation of rainbows

BoEHE e A %to
2. % i

Reflection of light in mirrors

=5

e o o e
S8 ered” SPo8 Hursdto

Formation of shadows

Den athdeo
4. % -

Question Number : 122 Question Id : 477187737 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The latitude of Medak, Telangana state is (rounded off to whole number)

Bei0res D506 A iS5 g, ezrodo (aj,;:--r;;ogf;é SPalalornt:elatelng)
% E _

Options :

17=N
1. ®
v 18°N
20° N
3. %



Question Number : 123 Question Id : 477187738 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of the angle of incidence and the angle of reflection of the incident
light at a mirror in a periscope is

26" 2.8 Omo 58 HEH0 JobD o8 Ans) HEN Bwo Hbcin HorHds Bmre

s

Options :

half the angle of incidence

equal to the angle of reflection

) % 20°H0N B Seirdo

equal to the angle of Incidence

L x 983 Sepd8 Srdo

twice the angle of incidence

e
.

53683 B8 Coid Gén
4.



Question Number : 124 Question Id : 477187739 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The relationship between loudness and amplitude of a sound wave 1s

&) ddoilo GnE) da SHE $Bc BoHd HBLE o 0t Somodio

L

jal

Options :

Loudness 1s inversely proportional to amplitude

,r,

S ")‘33 Bond obinas & ?:JJ-::_:.T‘.’_"';GE:I" Gotnob

] E‘

1. %

Loudness 1s directly prﬁportimml to amplitude

¥ 8 H58 BoHS HBBS wnsSrhirgos® Gotwod

2.

Loudness is independent of .-:lmplitude

S & B0ma 0.15&&'_90..' '°—‘E’“t) bgted

EﬁE’

3.8

Loudness 1s inversely proportional to the square of amplitude

& - =+ B e, g .
%’% 858 5008 H6dha 56’;?&@ DESarEod” Sotnod

4. ®



Question Number : 125 Question Id : 477187740 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The temperature measured in the Kelvin scale 1s called
BO:S sirdod” Beodinld asfiigdh s @otrd
Options :
Absolute temperature

555 aspiis
1L :

Relative temperature
- Fog esfiis

Standard temperature

ET,HcJ"EEJ?:: ﬁ&é‘h@
3. %

Thermal temperature

6h0h ssfiis



Question Number : 126 Question Id : 477187741 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The direction of the centripetal force 1z always:
%-E-éo@ic;&-c- GInE) BF et se° Gotnobd:
Options :
Tangent to the circular path

. c o s o i
BTeseE SrTeRS ()00 BES
1. * ‘

Away from the center of the circle

338 Solo ol trdore

Towards the center of the cirecle

Along the direction of the velocity

afio BES
4, %

: MCQ Option Shuffling : Yes Display Question



Question Number : 127 Question Id : 477187742 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

To protect a horseshoe magnet and preserve its magnetic strength, you should

always:
HDODTE edhaRoed Jobfodtrls Hbdn ol edhdrod nerd, SPartDE Ha8,

Options :
Wrap it in plastie

2 arDhE seAdos® Hepd

e

1. %

Store it with a soft iron bar across its poles

0 Syreh odom 8 HyhaS aD5sdd tod Ju; TP
2.¢ ) N

Expose 1t to heat regularly

AN Bsho SGyHone spas Hd Taird
3. %

Hang it from a string

ae @ ol Jerdhcird



Question Number : 128 Question Id : 477187743 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In an experiment. resistors made from the same material with resistances of

V ,voltage

0.50.20.40, and 8 0 are tested. It iz pbserved that the ratio o ( ) 1= not

current
constant across these resistors. Based on this observation, the material used n
the experiment 1s:

2.8 Hariod®, 0.50, 20, 40, $8c 80 J6%ren LDAS 2.8 Hros’ XL DohHosS

, e v B8 o
A e Hbfowrt. & AB Gsred” T (KBEBSJ J@ Diore 88 Hapdodalod. &
S00 e

Options :
Iron
BHeDadd

1. %
Copper
ita)

2. ®
Tungsten
e0RANR

3. % =
Germanium

80,0000
4.9



Question Number : 129 Question Id : 477187744 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bleaching of coloured objects using moist chlorine 1s an example of:

E)w SHATA0D o Hipihed f"fjoﬁ 260%0 ADE arirdes:

Options :

Oxidation reaction

u:'i%p 5’ Sea &5 ;

1. ¢
Reduction reaction
éﬁ?JgOEﬁ- ?_‘j

2. ®
Neutralization reaction
#eams0es 900

3. S [ 2

Precipitation reaction

il #
133500 90,
=) £l

B
=

4.%



Question Number : 130 Question Id : 477187745 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

We use PET for making bottles. PET is a very familiar form of:

r

F- i W L 2 ¥ o N LT o i .
SHaren B4t DoHErI8 Hdo PET 2 &3drATr:m. PET oda crer (808308 62

8r0:

Options :

Natural rubber

v s
"G:DLU ‘i" d.,

1. %
Thermﬂsetting plastic
&85, 2850 arhE
£ e
2. ®
Polyester
Eetartsl
3. ¢ -

Fiber glass

—_ =

2eb PR



Question Number : 131 Question Id : 477187746 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sodium metal 1s prezerved in:

SEEaho &0 HAE° Doy DdDaD@0:
Options :

Water
Eile Y]

1. %

Ethanol

- =
BHTRe

Vinegar

Hats]

Kerpzene

4 =t



Question Number : 132 Question Id : 477187747 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement from the following

806 EE" $0500 sl foBoiiol

Options :
Lanthanoids range from Lanthanum (La) to Lutetium (Lu).

erodarantd erodidan (La) od en832550 (Lu) $85% Goéran.

1. ®
Actinoids range from Actinium (Ac) to Lawrencium (Lr).
wSaront) 85ddbo (Ac) ok erBlabo (Lr) 5% sotron.

2. %
The third group of the periodic table starts with Carbon(C) and ends with
Lead (Pb).

v 9% HOESTD S (tre 520,5(C)6° @rdodim ko (Pb)&® smibinosd.
3. B - h

The 4th period of the periodic table starts with Potassium {K} and ends
with Krypton (Kr).

BHTD W8585D 4% HBGHE Sreriicho {Iﬂr&"‘ Eglaletatyy éé‘{:% (Krjlf"t'sE S0 08.

E h9
] ﬂa



Question Number : 133 Question Id : 477187748 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following plant tissues 1s made up of different types of cells?

=] [ L= g T £ ” & - D Ty Ty TS 4 # £ - et
Eob arf&” a5 5o Serad” J8800 85 Swereren 08 ?

Options :
Parenchyma and collenchyma

anythEmereo sHbdn n_ljt_:F_,-ng& SmeTeo

1. %
Xylem and phloem
TS b S8 Snereo
2.
Collenchyma and sclerenchyma
f;,;at-?ﬁ Seserero 8D ByfSsareo
3. % '

Parenchyma and sclerenchyma

FoythBmeroo OO Hyfneruo



Question Number : 134 Question Id : 477187749 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Energy producing catabolic life process is

D a%® 3D D05 58D

um

-t

Options :
Photozynthesis

E8esesigiotiriiSab

1. %
Reproduction
.éré}r"rﬁia

2. % 7T
Excretion
DR Bab

3. % -

Respiration

o =
TEed |__§ (o3}

4.

: MCQ Option Shuffling : Yes Display Question



Question Number : 135 Question Id : 477187750 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct pair of glands from the following

Sob seBE° 588 Hothe 28 HBoSod

Options :

1.

2.

4.

Pitutary gland and Gastric glands

SHOA (fod HHBaMm 2288 (106

Prostrate gland and Cowper’s gland

2 (Hob BBan T8 (K08
o

Adrenal gland and Salivary gland

w36 Hod HHdon oreree [Tob

Prostrate gland and Thyroid gland



Question Number : 136 Question Id : 477187751 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following Bacterium is called as ‘Bio pesticide’

Sob :P%%Ej? od” ‘adrNRE’ (Eddonod DD ) ™ Hendatd
o)
Options :
Clostridium botulinum
5"*?‘-& o &7éx; k0
TR
Lactobacillus
E:-FSFE&T'?J&'E
3 g
2. ®
Bacillus thuringiensis
g t\_.f_; '&;3{"?0 ruru
3. ¢
Ehizobium
oA lov e

4. %



Question Number : 137 Question Id : 477187752 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the autotrophic of a food chain from the following
Sob TS eFEG Arendosty Ej;ﬁ‘_‘ﬂ-;-c-eﬁﬁﬁ?ﬁ-\:ﬁ} [ghlsTatatele
Options :
Producers

& Srrthen

Primary consumers

EJJ

BPEHILE JNdENTEen

N
#
i

Secondary consumers

Gy -
&S00 RaiPhTrden

Teritiary consumers

#8800 DARHTRSen
4, ®



Question Number : 138 Question Id : 477187753 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify exhaustable natural resource from the following

Bod r8E” EBAEGD SiradSheh DbodSol

Options :

Water
1 o 00

Wind
2% T

Minerals
3 BeJeTmen

Solar energy

;nkfég

o

4, %



Question Number : 139 Question Id : 477187754 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
“Pellgra” 1s the disease related to which part of the body?

g o = o T i o a
Yo’ @) aoch) S00067 o gRMPAS Domobiotldb?

Options
Skin
#0,0
1. ¢
Eye
Shy
2. %
Liver
SE000
3. %
Kidney

r &
mJFL‘LﬁaJD’;O

4, %



Question Number : 140 Question Id : 477187755 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which macro nutrient iz essential for the arise of new leaves and flowers on

Options :
Phosphorus

erededo

Potassium

SPéFESICH0

3.¢

Boron

o5
4. %



Question Number : 141 Question Id : 477187756 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ozone molecules constantly get formed and destroved in which layer of the

atmosphere?
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Options :
Mesosphere
- 8806
Troposphere
q{’“?'g?:\:n;_&ag

Stratosphere
\Téi‘“%b ahb
3. ¢

Thermosphere

HE" é?l;,di] 5



Question Number : 142 Question Id : 477187757 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The disease ‘Kala Azar’ iz called by

Soer @b’ @) P80 e D

Options :
Bacteria
vt =Ta lonaj

1. ® ™
Virus
=T

2. 33 EDFJ
Worms
o I &
adyoinen

3. %
Protozoan
Ghesbstar



Question Number : 143 Question Id : 477187758 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following

esdadbyols

A) Palaeontology i)  diseases
doedsego Toen

B) Ecology 1) Fossils
8088 T°HO BemeTean

C) Microbiology 1) Environment
£ 5, Edae Q::f slepitalelots)

D) Pathology iv) Miero organisms
B ek FHO f;’-‘ué@éa“;j-?_:-}

Options :

A-n: B-in: C-1v: D
1. ¢

A-n: B-iv: C-mi; D

A-1; B-1; C-11; Dav

A-1; B-n; C-m; D-iv
4. %



Question Number : 144 Question Id : 477187759 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identif_v the plant that produces new plant from the modified roots

Zrodo TohE % Dol B Ind ok 688 T I8 HeoSed

Options :

Potato

L ® 20MmPEihomn

Dahlia

2.

Chrysanthemum

£
T al0ed

Gladioh
TEERD

Lot



Question Number : 145 Question Id : 477187760 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

A student of class IX noticed that a metal rod expands when heated and
contracts when cooled. He concluded that temperature affects the length of

metals. Which learning objective 1s this related to?

& < = A o o "“'E 4 n: . L . o
2.8 9% 8518 Degd e $62 T8 Tdith ;5 00D, SeeblSd $o8° D08 ©d
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HHowetd. en%mﬁﬁ e PEHD Perddo Dol w8l Jrbowrtd. 38 2 o
o5 Sonofoldb?
Options :

Knowledge

RO
= o

Understanding

BN
2.

Application

antao

3. % -

Skill

! e
4% Jadesg0



Question Number : 146 Question Id : 477187761 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following teaching methods izs LEAST aligned with the scientific
method used in science teaching?

Dy FOSE” SX0IPR0T TR0 HEBE & So0d &Par o;ig:&é" b ©s &%5mr
& S

ol

[2

HBEHch?
Options :

Inductive method

SiBS H58

1. ®
Laboratory method
pairdare D08

2. % -
Inquiry-based method
Sieties e b a’nﬁgé

3. %

Deductive method

s e

.
&

4. &



Question Number : 147 Question Id : 477187762 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0
Achievement tests are generally classified as

e
-

ot art > o R e 2
S H05en Jrrrdsorr ser HE5BodatiEron
0

_1‘;} Teacher made tests
AaPERoh #0570 H85en

(=]

Standardized tests

A
mBsen
=g

B)

Evekivlois
Choose the correct answer
08 HEEPId) J0hE ol

Options :
Both A& B
A & BGoir
1.
Neither A nor B
A =oth H8650 Bseth
2. ®
A 0111}.'
A E:J‘@ﬁ&:
3.
B only

B 53

4.%



Question Number : 148 Question Id : 477187763 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this Assessment. the performance of the other students is NOT important in

the interpretation of the performance of a particular student

o2

& reriosldo

o

o T T G T : g
i8S E’JB-;C Atryd BUEHN DHbostod” B8l ATEghe DASDH Y0

Options :
Norm-referenced Assessment

B — BT, shrerosio

Criterion-referenced Assessment
” BHB0LS — 8505 swrerpsso

2. %
Relative Grading Assessment

g 8ol sirerosibo
3. %

Placement Assessment

- #

&6 AdirshE sreriosio



Question Number : 149 Question Id : 477187764 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a question for higher order/critical thinking i

biology?

i nod”, Sof) artld® 08 &858 B35 /8:3ghN 8 SN DBodd B8y?
= CH. - rmogyt— =8

Options :

What are the respiratory organs in cockroach?

’q-uEJP- ES'-E ;J r‘lj_{':t\uc_ujuf_u D_.&I}
1. %
Where does the photosynthesis take place in plants?
. Fng)ed Sdmad; So@riEah 288 etirbdod?
2. -
Where do the fats get digested in humans?
rEHed® B 2558 “‘f":naﬁ,é
3. %

How do you relate the study of ecology to the global challenges of climate
change and biodiversity loss?
TEHes P ShBakn éeﬁg;\@ B0 GIE) @hod Sargh Hbohn dardle 3

F_,-(j 'fji_-c\.- n..é h.lp_: n..{] "'OEP{\.. gl,'ﬁ, ol&® 55? 57
4. ¥



Question Number : 150 Question Id : 477187765 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A biology teacher in class IX is dealing with ‘life forms' and wvarious
classifications of life forms done by scientists. Which of the following best

supports her teaching?

T | z - i g - . £ <o
&80 B0N&E° 2.8 z‘iéang GarrrdnTren 2P Sraren’ BN FrNlden Do 28
e
1

Benob?

A) Drawing pictures of various plants and animals on black-board
&:JE—&EE_: DG FnByen HBOM sode DEred Achdo

B) Concept map and Concept web
38 S B =B 35

[

C) Specimens and models
pfielel s0BAM Asraren
(Choose the correct answer:
H0% SErrard) dohE ol
Options :
A 0111}'

| x Adrsd
B& C only

B & C &wiah
2. %

B Gn]y

B simah
3.¢



